Step 1: Accessories

Sitting Board

A | M6*15 6 | %y

B | M6*20 ~;

C|M6*25 |15 | Ry

D Hexagonal Key ~

E ronriece 1 ‘ Use 8 M6*25 screws to tighten the seat.
Step 2: Use 6 M6*15 screws to fix the iron sheet

to the wooden frame.

Note: Because there are slight gaps
between the wooden frames, when
screwing in the screws, you should first
align all the screws with the holes of the
wooden frame and the iron sheet, and
then tighten them one by one.

Align the four holes on the back of the back
pad with the back panel and hang it on.

1. Use 3 M6*20 screws and 3 M6*25 .
screws to lock the backrest and rear feet. Cushion
2. Use 4 M6*20 screws to gently lock
them into the four holes on the side of
the back panel.

Note: The 4 M6*20 screws on the
backrest do not need to be fully
tightened, otherwise they will easily
screw through the wood board. Just
tighten the screws 3-4 times, and leave
half of the screws exposed to hang the
back cushion.

Use 4 M6*25 screWs to lock the seat
cushion and seat plate.

Note: Do not tighten the screws directly.
All screws should be positioned before
they can be fully tightened.




